EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZHEREE (uSv/h)
_ _ _ . MEZH AL BE - F—LF HE - A%
No. TR KFEL FRTEHE RAEABR [MEEE| (B4 P = osn %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.22 0.22 0.13 0.16 0.16 0.20
1152 Bl |[RELARE FE1TH 6A130 FE(X)
im 0.23 0.31 0.15 0.18 0.18 0.26
50cm 0.40 0.59 0.17 0.20 0.18 0.25
1153 B |H/\ETERFR HI\ET1TH 6A11R FE(X)
im 0.38 057 0.18 0.21 0.21 0.26
~ 50cm 0.13 0.15 0.12 0.13 0.16 0.16
1154 BT | FEESR $E3TH 6A11R =
im 013 015 0.14] 015 0.16 0.19
] 50cm 0.27 0.35 0.11 0.12 0.14 0.16
1155 MLt | FESEE/EERF)  [FE1TE 6A11R KILFE
im 0.26 035 013 0.14] 0.16 0.18
50cm 0.13 0.17 0.11 0.12 0.12 0.13
1156 M | BRERFT E=p il 6A11R =
im 013 017 0.11 013 013 0.14]
~ 50cm 0.12 0.17 0.09 0.11 0.12 0.13 i
1157 B [KPIRTESFR JKPIRT 6A178 EIRHE
im 0.11 0.16 0.09 0.11 013 0.14]
~ 50cm 0.24 0.31 0.23 0.26 0.22 0.25
1158 BT |BRNBASERR BiM2TH 6A178 =
im 0.25 0.28 0.24 0.27 0.23 0.28
- 50cm 0.11 0.12 0.10 0.11 0.11 0.14
1159 B | KEE—KRF RERTFHIE 6A11R EES
im 0.12 0.13 0.10 0.12 0.11 0.13
50cm 0.11 0.18 0.10 0.11 0.11 0.11
1160 it | KRFEEZKRFR KB AT 6A128 M=
im 0.11 0.16 0.10 0.11 0.10 0.12
50cm 0.12 0.15 0.09 0.10 0.11 0.11
1161 BT |EERBESFR BERTFRAT 6A128 =
1m 0.13 0.15 0.10 0.11 0.10 0.11
50cm 0.17 0.24 0.12 0.13 0.13 0.16
1162 | ERLT |AETEEERA BERFHR/A 68128 HE (K)
im 0.16 0.22 0.12 0.13 0.14 0.17
- 50cm 0.12 0.23 0.09 0.13 )
163 | ERLT | FEETHE) KRFHF TaAFHHER 68128 HE (K) RTEAER B OHRIE
1m 0.13 0.22 0.09 0.13
50cm 0.23 0.34 0.10 0.11 0.12 0.13
1164 | ERILT | EARERA EARBTFE /1 6F208 M=
1m 0.22 0.32 0.09 0.11 0.11 0.13
- 50cm 0.19 0.30 0.16 0.21 0.22 0.25
1165 Bt | FTEARERFR BRI FHEEH 6A128 HE(X)
1m 0.19 0.30 0.16 0.21 0.21 0.25
- 50cm 0.14 0.15 0.10 0.12 0.13 0.15
1166 | ERLT  |FIAEETARERA P A s BT SR AR 681680 ME
1m 0.14 0.16 0.11 0.12 0.13 0.13
50cm 0.14 0.16 0.08 0.09 0.09 0.13
167 | EBILT | RRERA RIAATFRIR 681680 HE(K)
1m 0.12 0.15 0.09 0.10 0.10 0.13
50cm 0.14 0.14 0.10 0.10 0.10 0.11
1168 |  ERILT |HIKELARE HIKERITH 6A 168 ME
1m 0.14 0.13 0.09 0.11 0.10 0.12
- 50cm 0.12 0.12 0.10 0.10 0.10 0.11
1169 i |RE)IETER SRR 151 BT=F1)1| 6A168 EIES
1m 0.11 0.12 0.11 0.10 0.10 0.11
50cm 0.12 0.13 0.09 0.10 0.10 0.13
170 | BBILT | FRHETERFR FHETFTH 6A 148 =
1m 0.11 0.13 0.09 0.11 0.11 0.13
- 50cm 0.16 0.18 0.09 0.10 0.11 0.14
171 B [HERETERFR HERTFRER 6A178 EES
1m 0.16 0.19 0.10 0.11 0.11 0.15
50cm 0.12 0.13 0.09 0.10 0.10 0.11
1172 Md | BRrERZTBERH #&rER2TH 6A178 M=
1m 0.10 0.12 0.10 0.12 0.11 0.12
50cm 0.10 0.12 0.10 0.12 )
173 | BT |y ERETBERF o F BT 7R A I 7A38 *E HIERAEF BN OHAE
m 0.11 0.13 0.10 0.11
50cm 0.16 0.18 0.09 0.09 )
1174 EBLm | ByERNTBRSF HrER8TH 64138 HE AIEIRER LB DO HERIE
m 0.16 0.18 0.09 0.10
50cm 0.15 0.16 0.10 0.10 )
175 | EBILT |y ERATBERH ®RTEE6TH 6H16H *E HIERAEF BN OHAE
m 0.14 0.16 0.11 0.11
50cm 0.13 0.16 0.08 0.09 0.10 0.11
1176 Wi | EEET BERAH ®RTEFEATH 6A18R KIEM
m 0.14 0.15 0.09 0.10 0.10 0.12
50cm 0.13 0.15 0.10 0.11 0.11 0.13 i
1177 Wit |BRrERERETEERH ®TER7TH 6A138 FISHE
m 0.13 0.15 0.10 0.11 0.11 0.13
50cm 0.26 0.38 0.11 0.14 0.13 0.16
1178 M | FRTERAT KHIETFREA 6A11R HE
m 0.25 0.39 0.11 0.15 0.17 0.19
50cm 0.28 0.40 0.15 0.21 0.18 0.24
1179 Bl | EETARSE KHRETF £ AT 6A11R HE
m 0.26 0.37 0.16 0.23 0.19 0.24
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZHEREE (uSv/h)
_ _ _ . MEZH AL BE - F—LF HE - A%
No. TR KFEL FRTEHE RAEABR [MEEE| (B4 P = osn %
nEEE| PR [wEEx| o) (neEx
R R R
~ 50cm 0.11 0.15 0.08 0.09 0.08 0.12
1180 B | TFETESFR AHRETF TRT 6A11R =
1m 0.11 0.15 0.08 0.09 0.09 012
50cm 0.21 0.32 0.09 0.12 0.12 0.16
1181 i | REETEARSEE AMBTFEEH 6A11R ol
im 0.20 0.31 0.09 013 0.11 017
~ 50cm 0.21 0.36 0.10 0.12 0.13 0.16
1182 | EBILTH  |BRETEESFR KARETFRE/ K 6A118 KILFE
im 0.21 0.33 0.11 013 015 017
B ~ B 50cm 0.17 0.24 0.08 0.12 0.11 0.13
1183 B [ERRESFK AHBTFEER 68128 R
im 0.16 0.22 0.09 013 0.11 015
~ 50cm 0.17 0.25 0.08 0.13 0.11 0.14
1184 i |P/ERSFT AHRETF e/ 68128 R
im 0.17 0.24 0.09 012 012 0.16
~ 50cm 0.21 0.27 0.09 0.14 0.12 0.17
1185 | BRI [KHLASERAT RIRETFIRER 68128 HE(K)
im 0.21 0.29 0.10| 0.15 013 0.18
~ 50cm 0.27 0.44 0.10 0.12 0.11 0.14
1186 BT | KBRS AHRBTF RIS 68128 FE(X)
im 0.24 035 0.09 013 012 015
- 50cm 0.25 047 0.10 0.14 0.14 0.19
1187 B | FARERF ABETF T RS 6A128 HEE
im 0.25 0.44 0.11 0.16 0.15 0.21
- 50cm 0.22 0.30 0.22 0.40 )
188 | ERLT |B/ERME(GB/EERFT) | KHEETFE/E 68138 H*E RTEAER B OHRIE
1m 0.24 0.34 0.27 0.41
- 50cm 0.25 0.38 0.10 0.14 0.15 0.21
189 | ERILT | WL TSERAT AHETFILTER 6A138 M=
1m 0.24 0.33 0.12 0.16 0.17 0.25
50cm 0.19 0.24 0.13 0.18 0.19 0.24
1190 Bt |(ARARSE RARETFER 6A13R EE
im 0.20 0.26 0.14 0.19 0.20 0.26
50cm 0.24 0.37 0.10 0.14 0.19 0.29
1191 Bl | KBRS AHRETFAH 64138 HEE(X)
1m 0.24 0.36 0.11 0.16 0.20 0.31
50cm 0.13 0.26 0.08 0.10 0.10 0.13
1192 Mt |E/ARERF KHETF =/ AL 6A13R =
1m 0.14 0.23 0.08 0.10 0.11 0.14
50cm 0.33 0.50 0.14 0.18 0.14 0.20
1193 B |FREERRR RHRETFRETE 6A16R =
1m 0.32 0.46 0.15 0.21 0.16 0.21
50cm 0.22 0.31 0.10 0.14 0.14 0.18
1194 BLh  |LHE—ERFH KHZHTF /K 68168 EES
1m 0.21 0.32 0.11 0.15 0.15 0.20
- 50cm 0.13 0.18 0.10 0.13 0.16 0.19
1195 Md | REKKFT HEM_TH 64168 HE(X)
1m 0.14 0.19 0.11 0.13 0.16 0.19
50cm 0.19 0.32 0.08 0.12 0.13 0.19
1196 Bh  |#Sa=ToEuE— FHET 68178 HE(X)
1m 0.18 0.27 0.09 0.13 0.13 0.20
50cm 0.13 0.23 0.08 0.13 0.10 0.17
1197 | BBl |RERFR 23T B 68178 KILFE
1m 0.13 0.23 0.09 0.14 0.11 0.18
50cm 0.13 0.15 0.10 0.11 0.11 0.14
1198 BLh | SRR B2TH 6A178 EES
1m 0.12 0.15 0.10 0.12 0.11 0.14
- 50cm 0.19 0.26 0.13 0.17 0.13 0.17
1199 BT |AHPRERF AF1TH 6A18A HE(X)
1m 0.18 0.26 0.14 0.18 0.14 0.19
- 50cm 0.31 0.36 0.14 0.17 0.16 0.20
1200 B | AHEERF A#2TH 6A18A A=
1m 0.28 0.32 0.15 0.19 0.17 0.20
50cm 0.16 0.23 0.10 0.13 0.14 0.19
1201 BT [ShoHERR StasHEr 6A18R HE
m 0.18 0.24 0.11 0.16 0.15 0.20
50cm 0.10 0.14 0.09 0.11 0.09 0.11
1202 Bl |FARBERF KRBT R R A 6A178 KIEM
m 0.11 0.14 0.10 0.11 0.10 0.11
50cm 0.13 0.16 0.21 0.27 0.24 0.30
1203 BLh  |[ERRSERH IREITE 6A19A EiES
m 0.13 0.17 0.23 0.31 0.25 0.31
50cm 0.17 0.19 0.12 0.12 0.13 0.13
1204 B |BHETRERF BBF2TH 6A138 KIEM
m 0.15 0.20 0.12 0.13 0.13 0.15
50cm 0.14 0.18 0.12 0.15 0.12 0.18
1205 M LR RRT FEAM2TH 6A18R HE
m 0.15 0.18 0.13 0.16 0.13 0.20
50cm 0.22 0.29 0.13 0.16 0.14 0.18
1206 B |RBRERF FIR3TH 6A18R KIEM
m 0.23 0.30 0.14 0.17 0.15 0.19
50cm 0.20 0.27 0.13 0.19 0.16 0.22
1207 B |RBRETNRESFR FIR3TH 6A198 A=
m 0.20 0.27 0.14 0.19 0.16 0.20
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZHEREE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. ETA KSR PR WEAR |MEES | (B - = osn %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.31 0.42 0.14 0.15 0.15 0.18
1208 A | LVt RERFT tith T 6A19A FE(X)
1m 0.26 0.38 0.14 0.17 0.15 0.19
~ 50cm 0.13 0.19 0.13 0.14 0.14 0.17|
1209 B [RRESFR FR2TH 6A19A SBE
1m 0.16 0.20 0.14 0.15 0.15 0.20
~ 50cm 0.13 0.17 0.08 0.09 0.09 0.11
1210 BT |RBE-ERFH ¥iR5TH 68198 KILFE
1m 0.14 0.17 0.09 0.11 0.09 0.11
~ 50cm 0.16 0.22 0.12 0.15 )
1211 i |EOEERFT AHBETFIEYIE 6A168 HE RIEIREREENDOAHRE
im 0.17 0.24 0.13 0.16
50cm 0.26 0.50 0.11 0.15 0.14 0.20
1212 Hm  |RA=a—2VURRR A FEES 68168 =
im 0.27 0.43 0.13 0.16 0.16 0.21
50cm 0.17 0.21 0.11 0.12 0.14 0.16
1213 B [RLESFR EERETFALL 68128 SBE
im 0.18 0.21 0.11 0.13 0.14 0.17
~ 50cm 0.28 0.34 0.10 0.12 0.13 0.18
1214 B [ERRERFR EHETFERK 6A16H =
1m 0.29 0.34 0.11 0.13 0.14 0.19
50cm 0.27 0.37 0.12 0.15 0.15 0.18
1215 | ERLT | EEETEZRERH = AT R BA 6A118 HE
im 0.26 0.34 0.13 0.16 0.15 0.19
o A T I 4 o 50cm 0.20 0.22 0.13 0.14 0.17 0.21
1216 | g |FETERERRFTAE |yxsTh 6R178 fi=
= 1m 0.19 0.21 0.14] 0.15 0.18 0.20)
- 50cm 0.37 0.55 0.16 0.19 0.17 0.22
1217 | B |EEETEARERMH EHRETF R 6A 198 M=
1m 0.36 0.52 0.18 0.21 0.20 0.26
- 50cm 0.30 0.38 0.09 0.12 0.11 0.13
1218 Bl |EEERFR =BET TR 6A11R A=
im 0.26 0.33 0.10 0.13 0.11 0.14
50cm 0.16 0.26 0.10 0.12 0.11 0.13
1219 BLh  |[BE-ESNBLRE BENFAHSE 6A128 EE
1m 0.17 0.25 0.10 0.13 0.13 0.16
50cm 0.24 0.36 0.12 0.14 0.15 0.16
1220 LT |BAsEESR EEETFIE/E 6A118 MENo. 1-2
1m 0.25 0.37 0.12 0.16 0.16 0.17
- 50cm 043 052 0.13 0.17 0.19 0.20
1221 it |RAZT BETRKRFR WA2TH 6H188 =
1m 0.37 0.39 0.15 0.18 0.21 0.22
- 50cm 0.22 0.66 0.13 0.21 0.15 0.24
1222 i | B/ NEFT w/M2TH 6A18A EES
1m 0.21 0.53 0.13 0.24 0.16 0.26
50cm 0.20 0.37 0.12 0.19 0.14 0.23
1223 BLh | REF-—ERESFH R&E1TH 6A19A EES
1m 0.18 0.34 0.14 0.20 0.16 0.25
- 50cm 0.23 0.30 0.12 0.15 0.14 0.17
1224 B | EERERF EEu 6A11R A=
1m 0.21 0.29 0.11 0.16 0.14 0.18
- 50cm 0.21 0.26 0.14 0.18 0.13 0.17
1225 i |BBILPREAMEARERTT [EEEFTAE 6A118 KR
1m 0.21 0.26 0.15 0.17 0.14 0.18
50cm 0.28 0.50 0.11 0.15 0.15 0.22
1226 | ERILT | REBSATRERM HeART 6A208 =
1m 0.26 043 0.14 0.17 0.18 0.24
- 50cm 0.1 HIERAEEF ERMED:H. FIEAE
1227 Bl |(ERLABRGEESHR HeART 68208 HEREL
im 013 BHO#HRE
- 50cm 0.13 053 0.12 0.20 0.13 0.29
1228 | ERILT | MHEASERAR FREART 6A208 M=
1m 0.13 0.52 0.13 0.25 0.14 0.32
50cm 0.15 0.21 0.08 0.10 0.10 0.14
1229 | ERILT  |#IBERAET #;BRT 6A208 FEK)
m 0.14 0.18 0.09 0.11 0.10 0.13
50cm 0.35 051 0.16 0.20 0.17 0.24
1230 B [EF—IRERR EWITH 68208 EiES
m 0.31 0.44 0.17 0.22 0.18 0.24
50cm 0.33 0.63 0.19 0.24 0.20 0.28
1231 Wl |EHAHEEERR KET2TH 6A258 A=
m 0.35 0.54 0.21 0.27 0.23 0.30
50cm 0.28 047 0.12 0.19 0.18 0.24
1232 LT |BEEARERH FEET 6A258 FE(X)
m 0.27 0.38 0.14 0.20 0.19 0.25
50cm 0.21 0.25 0.10 0.11 0.13 0.15
1233 B [/ ARNRERFR /B 68238 HE(X)
m 0.21 0.25 0.12 0.12 0.14 0.16
50cm 0.13 0.18 0.11 0.14 0.14 0.17
1234 LT | KBHERF RIEHTE )| F R 6A248 mn=E
m 0.14 0.19 0.11 0.15 0.14 0.19
50cm 0.10 0.21 0.08 0.13 0.08 0.20
1235 LT |RHERF REARHTRENR 6A238 FE(K)
m 0.11 0.21 0.09 0.14 0.10 0.21
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZERHEE (uSv/h)
_ _ . | mEsmAD HE - F—LE BB
No. A KFERT FR7EHE BEAR |AESS (B4) = " DEH wE
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.10 0.10 0.12 [ _ = s D
1236 | BWH [EHAEME RRERA TR 6A2A iz B R CORED
1m 0.12 0.11 0.12 = RS
50cm 0.11 0.21 0.09 0.15 0.16 0.27
1237 A |dFEAHRERET RIRATFRHFRE 6A238 =
1m 0.11 020 o10] 015 0.16 0.27
50cm 0.15 0.17 0.09 o.10[ 009 0.11
1238 B |HATERFR RIRAT B HILF— A 68208 SBE
1m 0.13 0.16 0.09 o10[ 009 0.10
50cm 014 017 014 021 0.37 0.41
1239 M |WHETEZSRFR RHET B HILF— A0 6H208 FIES
im 0.14| 016 0.16 0.22 0.31 0.36
50cm 0.12 0.18 0.09 o1o[ o10] o011
1240 B |[BHILSE RIRATAHILSTE 68208 =
im 0.13 0.18 oto[ o012 ofo[ 013
50cm 0.12 0.26 0.08 0.13 o.10[ 016
1241 BT |EEEEFR RRETRHFTE 68230 =
im 0.12 0.25 0.09 014/ o010] o016
50cm 0.18 0.31 0.11 0.17 0.12 0.20
1242 BT |REESFR RIMATRLEBFHER 68250 AESBE
1m 0.18 030 o011 0.19 0.13 0.23
50cm 0.16 0.21 0.08 0.11 014 019
1243 BT | REPRERF R¥®1TH 68238 £
m 0.15 021 o10[ 012 0.15 0.20
50cm 014 024 008 0.12 o10[ 013
1244 Bl | RARESF REIRAR2TH 7A38 %
1m 0.15 0.25 0.09 0.12 0.10[ 015
50cm 0.18 0.39 o10[ 021 0.13 0.36
1245 i |HoLEERAT RIMETTRHFER 6A248 KL
m 0.19 034 012 024 015 0.38
50cm 067 0.99 014 018 014 019
1246 Bl |AEBERF RIRATE )| FHTH 68248 EES
im 0.59 084 015 0.19 0.15 0.20
50cm 0.21 0.33 010 o014 013 0.16
1247 | BT | HSHEERFR RHETE )| Fith 6H238 BRE1-2
1m 0.22 0.32 0.12 0.15 0.15 0.18
50cm 0.13 0.22 0.08 0.11 o1o[ 017
1248 i |ERARERFR REMEARARITE 6A248 EE
m 0.1 0.19 0.09 0.13 0.1 0.18
50cm 0.21 0.29 0.09 0.11 0.11 0.13
1249 il |=EHEERR R|ATH 68248 =
1m 0.18 0.25 o10[ 012 0.12 0.14
50cm 0.15 0.21 oto[ o014 o011 0.15
1250 B |BERERERF REETTHFRAR 68250 HE
1m 0.14 0.19 0.11 0.16 0.11 0.18
50cm 0.18 0.07 0.08 o 4 o B
1251 | B |ABRTAR SRR SRR T RATE 6258 H—n HEBRERERRAEORD. MEBE
1m 0.19 0.08 0.09 A
2SS 50cm 0.15 0.22 oto[ 013 0.11 0.14
1052 | g [TYATTISBYCERR g 6A268 S EHR—IL
1m 0.14 0.21 0.11 0.15 0.12 0.17
50cm 014 022 o10[ 016 014 021
1253 LT | FFESE ZHENTTRFIZAN 7RA18 EE
1m 0.15 0.23 0.11 0.17 0.15 0.23
50cm 0.25 030 o10] 015 0.15 0.22
1254 i | =@ LBERRT ZHEmATE R T E 7RA18 ME(X)
1m 0.22 030[ 011 0.15 0.16 0.24
50cm 024 031 0.12 0.19
1255 i |E/RESFT ZHEMUAFTER 7RA18 ME(X) RIEREREENOHRE
1m 0.22 0.29 0.14 0.21
50cm 014 018
1256 LT |WAKEF ZTEEBTLOFRE 6A268 BHO#HRE
1m 0.16 0.18
50cm 014 018 0.11 0.16
1257 BT |REERERFR ZTEMERTILOFREED 7A48 m=E AIEAEREESN DAHBRIE
m 0.15 0.21 0.13 0.17
50cm 0.19 0.31 0.12 0.15 0.15 0.20
1258 LT | KBEERF ZHEAASFRHB/A 7A48 FE(X)
m 0.21 0.32 0.13 0.17 0.16 0.22
50cm 0.18 024 012 0.16 0.16 0.23
1259 B | STEEET/\IBEESFR =TEEET/ \EFEEH 68268 HE(X)
m 0.17 0.23 0.13 0.17 0.17 0.23
50cm 0.20 0.27 0.12 0.17 0.16 0.20
1260 BT |BEERFR ZTEEETER T 68268 HE
m 0.19 0.25 014 018 0.17 0.22
50cm 0.29 053
1261 LT |BEETERESH =SHEAMAEFEHER | 64268 B o#HRIE
m 0.30 0.50
50cm 0.19 0.42 0.12 0.18 0.13 0.21
1262 EBlm | TFEERM ZHEANTHFIERS 7A48 mn=E
m 0.19 0.41 0.13 0.21 0.13 0.24
50cm 0.21 0.35 0.08 0.11 oto[ 013
1263 it |ZREALRE)IBSE ZHEMET)I|BFTHTER 68268 LBE
m 0.20 0.33 0.09 0.12 0.11 0.12
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZERHEE (uSv/h)
) ) . .| mEEmAR BE - A—LF HE - %
No. A KFERT FR7EHE BEAR |AESS (B4) = " DEH wE
nEEE| PR [wEEx| o) (neEx
R R R

50cm 0.23 0.38 0.13 0.18 0.17 0.22

1264 i |FERERFT ZHREMIBFR,ES 6H268 =
1m 0.22 0.38 0.14] 0.19 0.18 0.24
50cm 0.18 0.22 0.13 0.17 0.19 0.23

1265 Bl |AREERF WA SEBFARER 68278 =
1m 0.18 0.21 0.15 0.17 0.20 0.25
50cm 0.22 0.36 0.08 0.11 0.15 0.17

1266 i [EHET=RPRERFT ERRTZEFFAR 6A278 FE(X)
1m 0.21 0.34 0.10| 013 0.16 0.19
50cm 0.27 0.48 0.13 0.16 0.18 0.21

1267 i [EBET=RACERFRT SEHET S EETFR/E 6A278 FE(X)
im 0.27 0.46 0.14] 0.18 0.19 0.23
50cm 0.22 0.41 0.09 0.12 0.16 0.19

1268 Mt BB ERETZEHFARE 6A278 FE(X)
im 0.23 0.40 0.11 0.13 0.17 0.20
50cm 0.25 0.29 0.12 0.16 0.14 0.20

1269 Mt | FTABERSFR SEHERT S BB AR 68278 =
im 0.21 0.27 0.12 0.17 0.17 0.22
50cm 0.12 0.16 0.09 0.10 0.11 0.13

1270 i | IWARERFT ERETZEHFILER 7A28 SBE
1m 0.11 0.14 0.09 0.12 0.11 0.14
50cm 0.27 0.35 0.09 0.12 0.15 0.20

1271 BT |ERPRERFR SEHET % B EF I 7A18 ME(K)
im 0.24 0.34 0.10 0.13 0.15 0.20
50cm 0.11 0.15

1272 LT |EOKRF ERETZ AT EHIM 7A18 BHAOHRE
im 0.11 0.15
50cm 0.13 0.22 0.07 0.10 0.13 0.17

1273 B |EEREF EBRTAINTF TE 7818 HE(X)
1m 0.14 0.20 0.08 0.12 0.14 0.18
50cm 0.09 0.12 0.08 0.10 0.11 0.16

1274 LT |EHERF EBRTEHTER 7A38 £
im 0.10 0.12 0.10 0.11 0.12 0.17
50cm 0.34 052

1275 i |EHECAAN TBERAT ERBTANTFR 7A38 BHAOHRE
1m 0.29 041
50cm 0.24 0.36 0.11 0.15

1276 it |BHFERFR HERFRR 7A28 REBE RIEIREREENOHHE
1m 0.23 0.34 0.13 0.18
50cm 0.17 0.24 0.11 0.14 0.15 0.22

1277 i |FETSRRFT ST ERTFHAT 7R48 ME(X)
1m 0.17 0.24 0.12 0.16 0.17 0.23
50cm 0.23 0.37 0.12 0.14 0.16 0.22

1278 LT |RETEREFR T RTF B AT 7A48 ME(X)
1m 0.23 0.37 0.13 0.15 0.18 0.21
50cm 0.13 0.24 0.11 0.15 0.13 0.21

1279 LT | KETEREF FERTFMO 7A48 ME(X)
1m 0.14 0.27 0.12 0.17 0.14 0.21
50cm 0.32 0.45 0.10 0.14 0.14 0.18

1280 B | TFHEE-ERF FFEF i/ R 7A28 HE(X)
1m 0.27 043 0.12 0.15 0.15 0.19
50cm 0.20 0.30 0.13 0.18 0.20 0.29

1281 BLh | TFHEEZSERF FERTFALRTER 78108 HE(X)
1m 0.21 0.32 0.15 0.22 0.24 0.33
50cm 0.18 0.27 0.12 0.16 0.13 0.18

1282 i | ERERFR RERFEEA 7A28 B
1m 0.19 0.28 0.13 0.19 0.15 0.20
50cm 0.27 0.36 0.12 0.16 0.17 0.24

1283 LT | R RENFRALERH 6A308 =
1m 0.25 0.38 0.13 0.19 0.19 0.26
50cm 0.24 0.43 0.12 0.16 0.17 0.23

1284 Ml KRR FERTFEF AT 64308 EES
1m 0.25 0.38 0.14 0.20 0.19 0.26
50cm 0.14 0.27 0.11 0.14 0.11 0.18

1285 B (FEOKRF RERFTALE 7A28 HE(X)
m 0.15 0.27 0.12 0.16 0.12 0.19
50cm 0.42 0.68 0.13 0.19 0.18 0.27

1286 Bl |RHERR faRai ot ] 7A28 FE(X)
m 0.37 0.62 0.16 0.22 0.20 0.31
50cm 0.26 0.48 0.09 0.14 0.12 0.16

1287 B |EF-E=rEERH i FRTFRTE 64308 HE(X)
m 0.27 047 0.10 0.15 0.14 0.18
50cm 0.21 0.32 0.13 0.17 0.20 0.24

1288 B |RERERF HERTFEAR 64308 EiES
m 0.20 0.32 0.15 0.21 0.22 0.28
50cm 0.27 043 0.12 0.19

1289 Mium | RYBERFT AR RS 7A108 FE(X) AIEAER T ESN DAHBRIE
m 0.26 0.42 0.14 0.19
50cm 0.34 051 0.10 0.14 0.16 0.21

1290 Bl |RETREF FFRTF R 7A38 E(X)
m 0.31 0.45 0.12 0.15 0.17 0.22
50cm 0.12 0.18 0.09 0.12 0.11 0.15

1291 EBLm B/ NE—REF EABBTEZRNTFERN 64188 E(X)
m 0.13 0.18 0.09 0.13 0.11 0.15
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RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID
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) ) . | mB#AR HE  F—ILE HE - FLE
No. | wlTHt KRS LT FREH: BEAB |MEEE| (B . "= e %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 036 062 o018 022 o020 o024
1292 i |BREETRRFT EABBEZNFE 6A168 FE(X)
im 036 052 o019] 022 o021 024
50cm 015 044/ o1 016 013 024
1293 B |[ERESFR EABBEZNFILR 6A16H =
m 016 043 o012 ot9] o013 026
50cm 014] 029
1294 i | BB RERFT EABBTE 2 NFIRERT 7A78 BHADHRE
m 015] 03t
50cm 019| 024 o012/ o015 o019 026
1295 i | RERERFT EABBEZNFTL/E | 68168 FE(X)
m 018 026 013 017 o020 027
50cm 036 o050 o018 022 o022 028
1296 A |HERRERET EABBEZNFHER | 68188 =
im 038 052 o019 025 o027 032
S 50cm 016 022 009 o015 o011 027
97 | mwh  [SEREEHERRAR | gy marammr 6R138 FIZ(K)
m 017 023 o010 o016 o011 029
50cm 022 047 o015 026 o020 051
1298 i | RBHERFT EAHBRRRFASE | 68138 =
m 024 045 o016] 032 o021 049
50cm 017 025 009| 011 011 0.16
1299 i |ATRRSE RIRRARE) [EABERIER1TE 6A13R A=
m o018/ 027 o010 o012 o 018
50cm 018 034 o015 o020 o014 022
1300 LT | ERESF EABBR1TE 64138 M=
m 018 032 o015 023 o015 025
500m 017 o026 o012 017 o 024
1301 i [NEERFR EABBRIERFNEL | 68138 M=
m 017 o028 013 oi9] 013 025
50cm 020 051 013 023 o16] 034
1302 LT | ABRESF EABBTRIERFEF 6A128 M=
m 020 047 o015 026 o018 038
500m 023 o050 o017 025 o018 033
1303 i | AR E ST EABBRIERFAFR | 68128 M=
m 025 o050 o018 029 o020 037
= S 500m 025 039 o014] 018 o016] 020
1304 | BB |REERF SABRERRFEEM | on1en e
- im 0.23 0.35 0.15 0.20 0.16 0.21
50cm 021 039 o015 020 017 o022
1305 i |+mE-EAKRFR EABBEZNFEH 64188 M=
m 022 036 o016 021 018 023
500m 021 025 o012 o015 o015 o018
1306 i  |BARARE(FERERA) |(EABEBTFTAER 64138 E-EZREE
m 022 026 o012 oi6| o016 019
500m 015 020 o010 o012 o013 016
1307 LT |HRESF EABBIFHRER 6A178 ME(X)
m 015 o019l o1 013 013 017
s o 500m 023 03t 013 o16| o020 022
1508 | g [TEoSMBLELS Y g ammrrnan 6A178 LELeN)
- AEEE m 0.25 0.33 0.15 0.17 0.19 0.22
500m 024/ 060 013 017 o017] 020
1309 LT |RRERF EABETFEL 6A178 KR
m 025 049 o014/ o019 o018 022
= = 500m 059 075 020 024 o026 035
1310 | B |WA%RF FAERRZPAFNEM | o518 =
m 049 o7 022 027 029 038
500m 015| 031 0.12 011
1311 LT |REAsEERH EABBIFAZA 6A208 ME(X) RIEREREENOHRE
m 016| 031 012 011
500m 045 036 o017 020 031 047
1312 MU |BO—RTASERAT BFIEBETF/ME 6A198 EES
m 040| 038 019] 024 034 044
500m 021 027 o014 o16| o018 024
1313 WL | =SARESRFR BANEBTFIE, 7 6A19A HE
m 023| 028 o015 o018 o018 026
500m 025 030 o014 ot6| o016 021
1314 B |[EHFALRF BHBFLEHA 68198 HE
m 025 028 o015 oi6| o017 023
500m 020 045 o015 o018 o017] 024
1315 BLm  |RRE-ETASESM BFEBETF+Z 6A208 HE
m 028 039 o016 022 o018 026
500m 025 030 o013 o015 o016] 020
1316 LT |REREZEIASESM BFEETF— Vi 6A198 KR
m 026 033 014 o16| o015 021
500m 041 046| 019 024
1317 B |EUERF BEFIEBBTFFi 6A208 R—IL AIEAER T ESN DAHBRIE
m 040| 046 022 026
500m 020 025
1318 Bl | IBRERF BANEETF FgiE 7A18 B o#HRIE
m 020 026
500m 041 054/ o012 013 o018 o022
1319 B |RERER BFHBEEFR 68208 HE
m 038 047 013 014] o019 023
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R R R
50cm 020 024 013 o16| o017 022
1320 i |E/ AR BANEETFRX 68208 R
m 020 026 o014] o018 o017] 024
50cm 030 034 o018 020 022 030
1321 i |EETASKRFRT BANEETFEAE 6H238 HE
m 030 036 o018 022 025 030
50cm 018 038 o16] 019 o019] 030
1322 Bl |(BEESFR BAEETEEFHE 68230 =
m 019 o040 o017 022 o020 030
50cm 044/ 059 025 031] o028 039
1323 B |EEESFR BAEETE & FER 68230 =
m 046 062 030 037 o031 043
50cm 018 o025 o008 oit| o010 o019
1324 M | FTEBESFR BHEEEEFEA 7A18 =
m 019 o026 009 o012 or1| 022
50cm 025 042 013 o020 o013 029
1325 M | LEBERFRT BHEEEEFLER 68230 FE(X)
m 025 037 014] 024 014] 034
50cm 025 035
1326 i |FILSERET BAEETEEF 7A18 BHADHRE
m 025 034
50cm 034/ o040 o018 022 o020 026
1327 i |@PIRERERFT BANEETHERFAPIRE | 68238 EE
m 035 041 020 024 o023 028
50cm 035 038 o016 o019 o021 027
1328 i |[BEOSRFT BANEET/\T BFHE0 7818 EES
m 031| 034 o018 021 024 030
500m 022 025 o017 o021 o020 022
1329 B |[EEERFR BALBARBFHER 68250 =
m 020 023 o017 o021 o022 o024
50cm 038 036 o021 026 o025 033
1330 i |fTEEIAMERA BALBTARBFELL 7A18 M=
m 038 039 025 030 o025 036
Py ()¢ 500m 031 087 o019 o023 o023 027
1031 | g |FETIOFMESTCR \gp i agmr=me | 1818 L]
= m 030 036 022 026 024 029
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1932 | BT |HEERE BALBTEREIS 628 iz HEREREAARORD. HENE
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500m 050 083 o021| 024 o026 032
1334 i |BARERRR BAWE/N\LBFEARR | 68248 KR
m 052 072 022 027 o030 036
500m 0.12 0.12 011 e . -
1035 | EUG | AUERSETARERF  |EAWAALEFEAR | 6828 #= T S ARER O, M
1m 0.13 0.12 0.12 A
500m 016 020 o015 o16| o016 017
1336 BT |Gt EREFT BAWEN\LBFEKE | 68258 EIES
m 016 020 o015 017 o015 018
500m 028 040 016 017
1337 LT |HEREFT BALEN\LBFEAR | 68248 EIES RIEREREENOHRE
m 029 041 017 019
500m 053 072 022 028
1338 i |EERERAT BAWLEN\LBFEHER | 68248 KR RIEREREENOHRE
m 048| 065 026 031
500m 021 029 o013 015|012 017
1339 B [BNRERF BAWEN\LBFEAE | 68248 EES
m 022 030 013 017 o013 o018
500m 033 o041 o018 023 o022 028
1340 B | BIRERFR BALBTEIRFEAF 68250 EES
m 034 043 020 024 024 030
500m 025 029 013 o016 o016] 020
1341 LT | FRERFM EALLE/\LBAFILE 7A18 KR
m 025 030 o013 o018 o016 021
500m 019 024 o017 o020 o018 o021
1342 it |FNRZaA—AIVERF [BAWLBR/NRFZED 6A258 HE(X)
m 020 025 o018 020 o019 021
500m 033 033 020 022 o023 027
1343 Bl |EHIETNSESF BALMARBFZE 6A258 m=E
m 026 027 020 023 024 030
[ 500m 009 009 o010 oif| o009 009
1044 | g [MRESSEEE ST e e 1878 R E
= m 008 009 o010 ofo| o009 009
500m 009 009
1345 i |SEERFT ARARTER RSB/ AT 7A88 B o#HRIE
m 008 009
500m 008 008 o006 006 007 007
1346 LT |HEIRERM HERTIRR AT 7A88 mn=E
m 008 008 o006 007 o007 007
500m 008 008 o006 006 007 007
1347 Wil |ERERERFT R RRTFRE 7A78 E(X)
m 007 009 007 007 o007 007
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EEREBEHRSRE=2YI/RE (RRFHESE) KFE
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RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZERHEE (uSv/h)
) ) . | mB#AR HE  F—ILE HE %
No. | wlTHt KRS LT FREH: BEAR |[MEEE| (B - "= e %
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.07 0.08 0.06 0.07 0.08 0.08
1348 i |PEHERFT BT R EFIER 7A78 FE(X)
im 0.07 0.07 0.06 0.07 0.07 0.08
50cm 0.09 0.10] 0.06 0.06 0.06 0.06
1349 i | REHESFR HERT R EF R R 7A88 =
im 0.08 0.10] 0.05 0.06 0.06 0.07
50cm 0.11 0.11 0.07 0.07 0.08 0.08
1350 LT | EREFREEUE— SHEET=RFF /AT 7A88 FE(X)
im 0.09 0.1 0.07 0.08 0.07 0.09
50cm 0.09 0.11 0.06 0.06 0.08 0.08
1351 i |PIARSF R =RFHh/A 7A88 FIES
im 0.08 0.1 0.06 0.06 0.08 0.09
50cm 0.08 0.09 0.06 0.06 0.06 0.07
1352 i | HET- FARRTERFT HrRTE RFHETH 7A78 =
im 0.08 0.09 0.06 0.07 0.06 0.07
50cm 0.07 0.09 0.06 0.07 0.07 0.09
1353 il |EEERFT HRRTiE R4 /AT 7A78 =
im 0.07 0.09 0.06 0.08 0.07 0.08
50cm 0.07 0.09 0.05 0.06 0.05 0.06
1354 i | RBFAKSFT AT RFARIEBAT 7R78 =
im 0.06 0.09 0.05 0.06 0.06 0.06
50cm 0.07 0.09
1355 LT |EEERF HralTiE RFATE 7A78 BHAO#HRE
m 008 009
50cm 0.07 0.09 0.04] 0.06 0.05 0.07
1356 LT |REERF HrFRTE RF IR 7A78 M=
m 007 008 005 006 o006 007
50cm 0.08 0.08
1357 i | RAISERFT rRTER T/ O 7A88 BHAOHRE
m 008 007
50cm 0.06 0.09
1358 LT |BERIESER HERTERFINEE 7A88 BHAOHRE
m 007| 009
50cm 0.09 0.17
1359 i |BAFBAERFR iHRET B A ST F LR 7A88 BHAOHRE
m 009| 013
50cm 0.07 0.10]
1360 i [ IMRETERRFT R RT IR MR AT 7A88 BHAOHRE
m 008 009
50cm 0.07 0.08
1361 i | RIRERFT HERTREFRE SR 7A88 BHAOHRE
m 007| 008
50cm 0.06 0.08
1362 LT |BULERFR SRR EF R 7A88 EBHAOHRE
im 0.06 0.08
50cm 0.11 0.17
1363 LT |RUREEE R AT ILFIR AR 78108 EBHAOHRE
im 0.1 0.17
50cm 0.10 0.14] 0.07 0.08
1364 Mt | AESSFT(BEARE) |(REEAEFRE 78108 ME(X) RIERAEREENOHRE
im 0.10 0.14] 0.07 0.09
- - 50cm 0.14] 0.20] 0.07 0.08 0.08 0.10]
105 | g |[EREAREUERERR | popmrmsemmts 6A268 iz
im 0.13 0.18 0.07 0.09 0.08 0.10]
50cm 0.13 0.15 0.07 0.09 0.08 0.10]
1366 LT |MTFRESF RBHEEF RIS 68268 EIES
im 0.13 0.16 0.08 0.10] 0.08 0.10]
50cm 0.13 0.17 0.10] 0.10] 0.11 0.13
1367 LT | KRR RBHEEFIHY 68268 EIES
im 0.13 0.17 0.10] 0.12 0.12 0.13
50cm 0.13 0.17
1368 B | ZEERFR REBNEEFE 64308 EBHAOHRE
im 0.12 0.15
50cm 0.14] 0.17 0.10] 0.11 0.12 0.14]
1369 Bl | tEERM REBNEEFLHE 68268 m=E
im 0.15 0.18 0.11 0.13 0.13 0.16
50cm 0.13 0.17 0.07 0.08 0.10] 0.11
1370 Wi | BAEERFR BERTE)FRTE 64308 HE(X)
im 0.12 0.16 0.07 0.09 0.12 0.13
50cm 0.13 0.18 0.09 0.10] 0.09 0.10]
1371 BLH | RTERRME BBRTR TS AT 6A278 EiES
im 0.13 0.17 0.09 0.11 0.10] 0.11
50cm 0.17 0.20] 0.08 0.10] 0.10] 0.13
1372 | BB | FFERF REMRTEF /B 6A278 ME(X)
im 0.16 0.21 0.08 0.11 0.11 0.12
50cm 0.16 0.18 0.08 0.11 0.11 0.13
1373 Bl |BER (KR &= RBHRFBFIAR 68278 m=E
im 0.16 0.18 0.09 0.11 0.11 0.14]
- (= 50cm 0.29 0.38 0.11 0.17 0.14] 0.17
1374 | BBILF g?mg;ﬁm(ﬁﬁﬁ& BEMRFETH/N 6A278 =
im 0.28 0.39 0.12 0.17 0.14] 0.19
50cm 0.16 0.21 0.11 0.13 0.13 0.18
1375 LT VB REBNRFEFEYA 68278 mn=E
im 0.16 0.22 0.12 0.15 0.15 0.19
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RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ZERHEE (uSv/h)
) ) . .| mEEmAR BE - A—LF HE - %
No. A KFERT FR7EHE BEAR |AESS (B4) = " DEH wE
nEEE| PR [wEEx| o) (neEx
R R R
50cm 0.09 0.10 0.07 0.08 0.08 0.09
1376 M |/ RERSFT WEMRFEFN/A 68268 =
1m 0.08 0.09 0.08 0.09 0.08 0.09
50cm 0.15 0.16 0.09 0.10 0.10 0.12
1377 BT | REEBRERH WERTRETRE 68278 FE(X)
1m 0.15 0.17 0.10 0.11 0.11 0.12
50cm 0.14 0.18 0.13 0.14 0.15 0.18
1378 BT | KBRS HBRTRBT®RER 68278 =
1m 0.16 0.18 0.13 0.16 0.16 0.19
50cm 0.18 0.23 0.10 0.13 0.11 0.13
1379 it | LRERERFR B EFEBFHRIE | 68308 MES
im 0.19 0.24 0.11 0.13 0.12 0.15
50cm 0.15 0.19 0.10 0.11 0.11 0.14
1380 A |[NEKRFR BN ELFERFIE 6A308 =
im 0.16 0.20 0.11 0.12 0.12 0.15
50cm 0.17 0.37 0.09 0.14 0.09 0.20
1381 BLh | THEBERM HENTRESTEH 64308 FE(X)
im 0.16 0.40 0.08 0.16 0.10 0.21
50cm 0.12 0.14 0.10 0.12 0.11 0.12
1382 BT |[EEARE(ZEESF) |(BHESEFIAKR 68198 =
1m 0.11 0.15 0.10 0.12 0.10 0.11
50cm 0.09 0.12 0.07 0.08 0.11 0.11
1383 BT | EERHEERERM AFETERF LR 6A138 EES
im 0.10 0.11 0.08 0.09 0.11 0.12
50cm 0.13 0.16 0.12 0.14 0.13 0.15
1384 LT | ETEKRF AFET LITEF&EAN 6A148 ME(X)
1m 0.13 0.17 0.12 0.14 0.13 0.16
50cm 0.18 0.18 0.10 0.10 0.12 0.13
1385 LT | TITEERSM AHNEIFTEFHEE 64188 KL
1m 0.15 0.17 0.09 0.10 0.11 0.13
50cm 0.09 0.12 0.08 0.09 0.12 0.12
1386 LT | FRKRESF AFETFRAFE 7A38 ME(X)
im 0.10 0.12 0.09 0.10 0.11 0.13
50cm 0.14 0.15 0.10 0.10 0.13 0.13
1387 i [MIESFFCMNIARE)  |BREVNIFTH 6A18H EES
1m 0.13 0.14 0.10 0.10 0.14 0.14
50cm 0.10 0.17 0.08 0.09 0.10 0.11
1388 B (RrERRFR BEftETHs E2T B 6A178 EE
1m 0.10 0.17 0.08 0.10 0.10 0.11
50cm 0.11 0.12 0.09 0.10 0.10 0.11
1389 LT | EEAESFT AFNEIFTEFEA 64198 M=
1m 0.11 0.13 0.09 0.10 0.10 0.11
50cm 0.11 0.13 0.07 0.08 0.09 0.10
1390 LT |SFIUSEE (SFILERF B ABT<F LU S T 64188 ME(X)
1m 0.12 0.15 0.08 0.09 0.09 0.10
50cm 0.14 0.16 0.10 0.12 0.13 0.14
1391 LT |HEASE(HEAESH) BFBT<FILF e 64188 RRHE
1m 0.14 0.16 0.12 0.13 0.13 0.15
50cm 0.14 0.18 0.09 0.12
1392 LT | BERSFMEEARE)  |BRETEFFIROL 6A198 ME(X) RIERAEREENOHRE
1m 0.15 0.19 0.09 0.13
50cm 0.13 0.16 0.09 0.10
1393 i |EEEZERFR BRETEEFESF 64198 REE RIEREREENOHRE
1m 0.12 0.15 0.09 0.10
50cm 0.15 0.22 0.09 0.12
1394 Bl | KBERF BARBT R TR 6A198 EIES RIEREREENOHRE
1m 0.14 0.21 0.10 0.12
50cm 0.15 0.25 0.08 0.09 0.09 0.10
1395 LT MBS A ETHEAFE 6A248 ME(X)
1m 0.15 0.24 0.09 0.10 0.09 0.11
50cm 0.15 0.19 0.11 0.14
1396 Mt | SR AFETRIRF=4EF 6A208 ME(X) RIERAEREENOAHRE
1m 0.14 0.18 0.11 0.14
50cm 0.13 0.15 0.09 0.10 0.10 0.12
1397 LT |UPERF B BT FETE 6A248 RKRHBE
m 0.13 0.14 0.10 0.10 0.12 0.15
50cm 0.12 0.15 0.09 0.09 0.10 0.11
1398 W | KREFEKRH BERETREFFPILE 6A248 FE(X)
m 0.12 0.16 0.09 0.09 0.12 0.12
50cm 0.15 0.20 0.13 0.15 0.17 0.20
1399 LT |EEERERF AFETEEFER 6A248 E(X)
m 0.15 0.19 0.13 0.16 0.17 0.23
50cm 0.10 0.12 0.09 0.10 0.10 0.13
1400 Bl | TAIRERA AFETEEF FAR 6A258 EE(K)
m 0.10 0.13 0.09 0.11 0.11 0.13
50cm 0.13 0.14 0.08 0.08 0.12 0.10
1401 Bl |EMCEKSRFR BRETEEBEFRF 6A238 FE(X)
m 0.11 0.14 0.08 0.08 0.12 0.12
50cm 0.21 0.26 0.09 0.10 0.12 0.12
1402 Mt |EEAREE AR EEFRE 68238 HE(X)
m 0.20 0.25 0.10 0.11 0.12 0.13
- N 50cm 0.09 0.10 0.07 0.08 0.07 0.08
1oz | g |DLEHARBERNER | giym g m) i 6A238 £2E
= m 0.09 0.09 0.07 0.08 0.07 0.08
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